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He went in one of them, and touched nyam.

OVERVIEW

The 71wn teaches us, in a case where two people traveled over two separate roads,
one of which contains a I8mY °XT; the status of the mAnv that each of these
individuals subsequently touched. N0 explains why the 71wn discusses the status
of the MY which they touched, instead of discussing the status of these people
themselves, whether they are &nv or M.

*
mooIN anticipates a question; what is the reason —
— MDYV DTN IIRP NI MINV VPIT NN
That the 71wn mentions that they touched m977w and the issue is whether the m77v
become &nv; why did he not say that the person who walked one of the 1"7°2w "2
was 7Y, and the question is whether he (or his friend) becomes Xnv.

mooIn responds:
— oMo NPINA NY 19IPT 2) DY OGN 992)DT DIVN

Because concerning the men who walked on these 17°2w '3, even though we

place them in their presumptive 797 state and we cannot consider them 2X»v since
they have a 71770 npin (they were both 1170 before this P90), nevertheless -
— >n1m190a DY N XYW TANTHY 1920 10Y 19981

We require of them immersion in a Mp» and sprinkling from the nXvn "» of the
TMTR 779 (to purify them from a possible ni nXmw). This IRT 72°20 is required to

remove the concern that both of them should not touch the same 33190 -
- sﬂh’)::l 59N 43‘\’2'{‘11 ANNYV AMMNINN INT

For then (if they both touched the same piece of 772170 and they did not have 7920
7xTM) the 72190 is certainly X%»w and whoever eats this I%n0 770 is liable for
Donw 72 N -
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" See “Thinking it over’.

?'7"3 can require this from them since it is not an undue hardship and it prevents an M.

? If they have 7xT™ 79°20 then there is no concern if they both touch the same 7171 or person.

* One of these people is certainly X»v and this person certainly touched the 770, Therefore the 7m1N is TXRAY KT,
See (however); ‘Thinking it over’ in the following n22a 7"7 nwoIN.

> There is a 02w >7a A 21 if a person eats 770 when the person is Xnv; not if a M 172 eats 7xmw 77N (he
[merely] transgresses a ¥"n [see 2,3 nw2°]). It is not clear why n1901n states N3 791877
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And similarly if they both touched another person (who was 717v), and he

entered the wTpn n°2 he is liable for n7> or a 127p. Therefore there is no point in
discussing a case concerning the two 2> who walked on these 122w '3, for even though they
may be not be considered o°&nv, we would still require of them to have 7R 179°2v, because they
can ultimately cause a a8m0 X7 (if they both touched the same 7m17n or the same person)6. The
X723 is citing an example where there is a 8™ 290 (which will not necessary result in a X7
TRMY), which cannot be rectified through 71%°2v, but rather must be destroyed if it is ¥1v, as in the
case of touching separate m .’

SUMMARY
The two people who walked on these 1"2°2w 'a require 7R 72°20 to prevent any
difficulties that may arise if they both touched the same person or 72170.

THINKING IT OVER

nmooIn states that the people who walked the 17°2w '3 are v because we place
them o730 npma.t Seemingly they are MY (even without the 7770 NP1 since this
a 1"7772 Ixmw poo which is 1w 00!’

% Concerning these two people all would agree that (they are not Xnu, but) require 7RI 72720.

7 They touched these n1iv before they had the opportunity to undergo axm™ 72°2u. These M Av have no 7PN
through 1xTM 72°20, they are either 2170 or must be burnt.

¥ See footnote # 1.

? See (n"9x and) PXmw 227.
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